2019 E £HAI)—RA(NRT7T—bEFHEAXE HiEdEIOVIXE

92 9ORZ8—L FYLITUSR BB

No & “Ia "EBﬁ G = (%E%)
1-27 ([BEB K& (A< F4F) 10| 8/ 8/ 8 1 1 1
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No Al “TIa "EBﬁ c o | de (2&%)
12-82 [FKJR E£8 (A F/\T IHhH) 2| 1 1 2 1l 1
9-78 |BAR &N (FAF /) 30 1| 2/ 3 2 1l 2
7-77 |EE B& (\ER HF) 40 3/ 3/ 4 3 3 3
8-76 |FERE FIR (=>FH 4X3) 50 4| 4| 2 4 4 4
11-80 [[REE 22 ((/3Y /V3) 50 5/ 5 5 4 4] 5
5-74 |FHH EFH 3PH =4/) 70 8 5 6 6 6| 6
10-81 [FKIR BE (FF¥/\5 7F3) 6/ 10| 7 7 17
6-75 |4IE T (VIO 7YR) 20 71 9 8 8 8| 8
2-73 |1FikE FR (M F4) 50[ 9 8 9 9 9 9
3-72 |&FH IMx (474 anIL) 70| 11| 7/ 10 10l 10| 10
41 | KRB HFEE (RoF X£T77) 50 10/ 11| 11| 11| 11| 11
1-70 |kH* 2 (FHALUV) DS
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No Al A Hﬁgﬁ c o | Ee (%E%)
6-106 ;IS B2 (T¥< FEIF) 10 1| 2| 1 1 1l 1
7-108 |HF# ¥%= (FHLT <HER) 30[ 2| 1| 2 2 2| 2
5-105 [/p#k ZEHE (Qn\v 2am) 8ol 3 3 3 3 3] 3
3-104 |7k % WK (FH/ 744%) 80| 4 4| 4 4 4 4
4-107 [/MFR B (T3 v Y L) 120 5/ 5 5 5 5 5
2-103 |HK BN (FAF 19R4Y) 30| 6 6/ 6 6 6| 6
1-101 [ EXK (B¥< VYI4H) 3o 70 7] 7 7 7|17
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5-105 [JIIg A (hTP 7 F+U+) 30/ 1] 1 1 1 1 1
6-106 |BLR #5% (ZhET >3vv) 50/ 2, 2| 2 2 2[ 2
7-108 |f1A BF&E (T% LA4F) 110 3 3 3 3 3 3




